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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<s ukS ¼9
1

2
½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is ground tissue system ? Describe different 

types of ground tissue systems with the help of suitable 

diagrams. 

Hkj.k Ård rU= D;k gS \ mi;qDr fp=ksa dh lgk;rk ls 

fofHkUu izdkj ds Hkj.k Ård rU=ksa dk o.kZu dhft,A 

2. Give an illustrated account of primary internal 

structure of monocot or dicot root. 

,dchti=h vFkok f}chti=h ewy dh izkFkfed vkUrfjd 

lajpuk dk lfp= o.kZu dhft,A 

3. Describe natural vegetative propagation in 

angiospermic plants with the help of suitable diagrams. 

mi;qZDr fp=ksa dh lgk;rk ls vko`rchth ikniksa esa izkd`frd 

dkf;d izo/kZu dk o.kZu dhft,A 

4. Describe anomalous secondary growth in Boerhaavia 

and Dracaena stem with suitable sketches.  

cksjgkfo;k ,oa Mªsfluk ds rus esa vlkekU; f}rh;d o`f) dk 

lfp= o.kZu dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Leaf abscission. 

i.kZ foyxuA 

2. Difference between vessels and tracheids. 

okfgdkvksa ,oa okfgfudkvksa esa vUrjA 

3. Hydathods. 

tyjU/kzA 

4. Concentric vascular bundles. 

ladsUnzh laogu c.MyA 

5. Histogen theory. 

fgLVkstu fl)kUrA 

6. Structure of cambium. 

,/kk dh lajpukA 

7. Cutting. 

drZuA 

8. Root nodules. 

ewy xazfFk;k¡ 

Or 

¼vFkok½ 

T. S. of dicot seed. 

f}chti=h cht dh vuqizLFk dkVA 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half (
1

2
) mark each. All the questions of 

this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk ¼
1

2
½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

1. Protoxylem in a dicot stem is ............. . 

f}chti=h rus dh vkfnnk: 
------------------------

 gksrh gSA 

2. Nucleus is absent in mature ............ . 

ifjiDo 
------------------------

 esa dsUnzd vuqifLFkr gksrk gSA 

3. .......... venation is found in dicot leaf. 

f}chti=h i.kZ esa 
------------------------

 foU;kl ik;k tkrk gSA 

Indicate whether the following are True or False : 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR; % 

4. Xylem vessels are thickened with lignin. (True/False) 

tkbye okfgdk,¡ fyfXuu ds dkj.k eksVh gksrh gSaA  

    ¼lR;@vlR;½ 

5. Wolffia is a biggest angiosperm. (True/False) 

owyfQ;k lcls cM+k vkòrchth gSA  ¼lR;@vlR;½ 
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6. The chief function of velamen tissue is to absorb 

moisture.   (True/False) 

osykesu Ård dk eq[; dk;Z ueh dks vo’kksf”kr djuk gSA  

    ¼lR;@vlR;½ 

7. Parenchyma is a dead tissue. (True/False) 

e`nwrd e`r Ård gSA   ¼lR;@vlR;½ 

8. Chloroplast is found in roots of Tinospora.(True/False) 

VhuksLiksjk dh tM+ksa esa gfjryod ik;k tkrk gSA  

    ¼lR;@vlR;½ 

9. Ethylene stimulates seed dormancy. (True/False) 

bFkkbyhu cht izlqfIr dks izsfjr djrh gSA ¼lR;@vlR;½ 

10. In Utricularia leaves are modified into bladder.  

     (True/False) 

;wVªhD;wysfj;k esa i.kZ FkSyh esa :ikUrfjr gksrs gSaA  

    ¼lR;@vlR;½ 
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